Math 8: Function and Slope Quiz Actual

Assessment ID:  dna.12261 ib.279769

Directions: Answer the following question(s).

1 The graph shows the height of a hiker above sea level. The hiker walks at a constant speed for the entire trip.
‘What are the variables? Describe how the variables are related at various points on the graph.

Elevation of Hiker

time

A. The variables are height and time. For the first
part of the graph, the height is increasing slowly,
which means the hiker is climbing a steep
incline. Flat parts of the graph show where the
elevation does not change, which means the
hiker stopped to rest. The steep part at the end
of the graph shows that the hiker is descending
a gentle slope.

B. The variables are height and time. For the first
part of the graph, the height is increasing slowly,
which means the hiker is walking up a gentle
slope. Flat parts of the graph show where the
elevation does not change, which means the trail
is flat here. The steep part at the end of the
graph shows that the hiker is descending a
steep incline.

C. The variables are height and time. For the first
part of the graph, the height is increasing slowly,
which means the hiker is climbing a steep
incline. Flat parts of the graph show where the
elevation does not change, which means the trail
is flat here. The steep part at the end of the
graph shows that the hiker is descending a
steep incline.

D. All of the above.

2 The graph shows the number of handbags that Mandy made in one day. What are the variables? Describe
how the variables are related at various points on the graph.

Mandy's Handbags

number af handhags
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The graph below shows your speed at different times riding a bicycle uphill. downhill. and on level
pavement.

1
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Speed (kph)

-

o 2 £ 6 H 0 x
Time From the Start (min)

For how long were you going uphill?
For how long were you going downhill?
c.  For how long were you riding on level pavement?

R

4 min; 3 min; 3 min
3 min; 3 min; 3 min
4 min; 3 min; 2 min
3 min; 4 min; 3 min
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Math 8: Function and Slope Quiz Actual

Assessment ID:  dna.12261 ib.279769

Directions: Answer the following question(s).

A car traveling at 23 mi/h accelerates to 46 mi/h
in 5 seconds. It maintains that speed for 5
seconds and then slows to a stop in 5 seconds.
Sketch and label a graph showing the car’s
speed over time.

Sketch a graph of the speed of a city bus on a
daily route. Label each section.

A - bus pulls away from a stop and increases
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Math 8: Function and Slope Quiz Actual

Assessment ID:  dna.12261 ib.279769

Directions: Answer the following question(s).

Identify the mapping diagram that represents the
relation and determine whether the relation is a
function.

{(-3,-6), (-1, -6), (5, -6), (8, -6)}
A

luminkRE ESHBif = ot a function.
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E The function f(x)=39x represents the number of
jumping jacks f(x) you can do in x minutes. How
many jumping jacks can you do in 5 minutes?

195 jumping jacks
7 jumping jacks
144 jumping jacks

OOw>

234 jumping jacks

What is the table of values for y=x-6?
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Math 8: Function and Slope Quiz Actual

Assessment ID:  dna.12261 ib.279769

Directions: Answer the following question(s).

10| Select all possible numbers that when
replaced with the "?" in the set of ordered
pairs {(3, 4), (-2, -5), (?, 0)} would create a

function.
A. -5
B. -2
C. o
D. 3
E. 7

11| Use the function rule f(x)= 3x -2. Find the output

f(1.5)?
A. 25
B. -25
C. 65
D. -65

12| Identify the domain and range of the relation.

{('412)! (_9!'5)1 ('4!12)1 (8! '8)}

Which relation is a function?

{(4.-2),(4,2),(9,-3). (9. -3)}
{(5,-2), (5,-1), (5, 0), (5, 1)}
{(4,-1), (5,-7), (6, 2), (5, 10)}
{(3,0), (5,4), (7,0), (8, 2)}

oow» &

14| Which relation is a not function?

{(10, -5), (8, —4), (4, -2), (2, 0)}
{1,-2),(1,-4).(1,0), (1, 8)}
{(-3,9),(-2,4), (-1, 1), (1, 1)}
{(3, 10), (5, -5), (6, 6), (9, 11)}
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Find the slope of the line.
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1/2

Find the slope of the line. Describe how one
variable changes in relation to the other.

Digtanes Traveled
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Dvistance {mi}
Ja

-1/2; distance decreases 1 mile every 2 hours
1/2; distance increases 1 mile every 2 hours
2; distance decreases by 2 miles per hour

2; distance increases by 2 miles per hour
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Math 8: Function and Slope Quiz Actual Assessment ID:  dna.12261 ib.279769

Directions: Answer the following question(s).

17 | Find the slope of the line.

£

(3]

(=]

i

18 List the lines below in the order of positive slope, negative slope, zero slope, and undefined slope
»

A. s,cna
B. ¢ s,an
C. ¢ s,na
D. acn,s
[luminate Itembank™ Stop: You have finished the assessment.
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